ER-IERRREE-RR

556 A8 AT
SEXEE TEMASREL

T I T X LOE
o — R X8 P ER
i e 3oy kel =R
X7 GRKE) |FEmEEiiEE (27
(TMKRE) |LIEREEREE (140
R FREE=22.1, B%)IIFE=7.2, FE)IGFE=165 £Z)IHE=171,
BEE)IGRE=19.9, BB IRiE=10.5, kA)I;i%=10.6,
FEmEREHEE |FMB)ILRE=164, AB)IRE=3.8, FEII5E=8.8, —DIR)IIiZ%=6.6,
mH-/ BRI FRiE=10.7, §32)5RE=4.2, FE)I5E=9.5,
sk BEth)I5Ri=24.9, XFH)FRE=6, =& )II5kE=12.8, [&/155=10.2
<7
R EE= (11, 19.8), EEJIFE=(11, 6.8),
o A FAEIFRE=(23, 14.3), FEUIGE=(11, 7.9),
asgp REEF)fRIE=(11, 26.4), Si2)IRIE=(21, 3.6)
- EEA#KT®R (ERNIGER-E] EEFIKREE)IEHAR-ER],
ICkDEHRE IR R [EERE]
i 5 fE 20m/s
A FHRRE fi: 20m/s
. fE 20m/s EFES
= b
AT THEE = 2om/s BEFES
= = () %2 EFiﬂl 1ZE§FEﬁB§Z'EE§o);¥é100m
= RROFS D 128 R E O 300m
R EEES 3.0m
=i AL 2.8m
x7 FEmEaEE |14
TIEWMEEHERE |103
R IFEE=16.3, B%)IIFE=5.7, FE)IFE=132, £E)I;iH=13.6,
BB E)Iig=15.5 BB )Iig=84, ]RA)IFiEH=8.4, BAIFRE=13.1,
FERERHEE | ABNRE=3, FEIRE=7, —OR)IE=5.2, ®+/\)IFE=8.5,
5E)IRE=3.3, F#B)IFE=7.6, Bih)IIFE=19.9, £H)IIFE=438,
ok =B)FE=10.2, FBIIFE=8.1
<7
FIEIFRIE=(7, 16.3), EE)IIFRE=(7, 5.7), £E)IFE=(7, 13.6),
s BB E)IE=(7, 15.5), BMANIFRE=(7, 129), ABRIFE=(7, 3),
FEUIGRE=11, 7), MEFNIFE=(11, 18.8), F:E)IFE=(11, 2.6)
EANIEKT®R ERNDRE -], BEFIDKREET)I[FHHE-BR],
IckDEHAE IR RIZR) [EERE]
W . fEE 10m/s
SR A T RE B T0m/s
. - N BEE 10m/s E&ES
A= FHRE B Tom/s TEES
EER = = oz i 12BF IR E DiFES5cm
AE REORS i3 1285 E D FE S 150m
KR ] 1.5m
=i AL 2.3m
ES FEFICFYEENTEINDSE
ME
8 5= a fE L 100m
p-—1 1Rig B 500m
225 B/INEE40% T, EHTRE65%
BEEDZES80cmLL LT, ROLVF
R 1 SUR3CLLEDIFR
ol= 2 BREFICKDER
3 BREDFEI40cmLl £
&8 B FELYTFHEEMNSCULEBEVEMNIAHV %, SOIC2BUEHKEFEINDIBE
- £H BIESE-5CUT
= 11H20BFETHEE 3H20BLIKENKE RIEKIEICLUT
EK-ES EEER-ZHROEHLHT T, XUE-2°C~2°C, JEEI0%LLE

(5o R R0 R P Rl A R TR 2R

1 E#Faﬁl"ﬁ% [100mm

EREAWEEY, REREEY ORAEbEICLIREBERLTOFES,



